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QUESTION 1

For a batch manufacturing process, while assessing short term process variation, which variation category (ies) should
one need to focus on? (Note: There are 2 correct answers).

A. Variation within consecutive pieces

B. Variation among consecutive batches
C. Variation among groups of pieces

D. Variation among the completed product

Correct Answer: AB

QUESTION 2

Which statement(s) are correct about the Regression shown here? (Note: There are 2 correct answers).

FittedLine Plot

Mo, af customers per our = - 0416 + 001526 Qukside temperatre
+ 0,04 166 Cuwkside Termper abura®* 2

EI:I — - ] S
e
g5

B 4
=0 4
a0 A
ql 4

1
104
04

Mo. of customer's per hour

Z ID i T T T T
0 10 20 1) 40
Dutside temperature {(degC)

A. The dependent variable is the outside temperature

B. The relationship between outside temperature and number of customers per hour is a Linear Regression
C. The dashed lines indicate with 95% confidence where all of the process data should fall between

D. The dashed lines indicate with 95% confidence the estimate for the Quadratic Regression Line

E. The predicted number of customers per hour is close to 5 if the outside temperature is 10 deg C

Correct Answer: DE
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QUESTION 3

To establish a sample size that will allow the proper overlap of distributions we do which of these?
A. Multiply Alpha by 1.75

B. Calculate one minus Beta

C. Calculate Beta plus 2

D. Multiply Beta by 3

Correct Answer: B

QUESTION 4

When variation is removed from the output of a process then the process customer can have more
confidence in the experience that results from the process.

A. True

B. False

Correct Answer: A

QUESTION 5

The Mann-Whitney test is a powerful test and is unique to situations from which of the choices listed? (Note: There are 2
correct answers).

A. Testing the identity of two populations

B. Focuses on equality of the Median of the two populations
C. Less powerful than the traditional "t-test"

D. More widely applicable than the traditional "t-test”

Correct Answer: BD
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